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Suifafod g3t

1. 5 901 15 f9fA5-a7 g17= Fo fFfA56?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pRyyTOnqOjwB

2. Write whether it is possible to form a

triangle by segments 3 cm,5cm, 7cm

° Watch Video Solution

3. 4 901 26 AfAD-97 J17= Fo fIfRA6?

° Watch Video Solution

4. Write whether it is possible to form a

triangle by segments3 cm,10cm, 15cm



https://dl.doubtnut.com/l/_3DDe7wSfHee8
https://dl.doubtnut.com/l/_rxt3YhDrludz
https://dl.doubtnut.com/l/_dye6OVIiakUh

o Watch Video Solution

5. ABC fagow /A @9 A (& BC

OIfog(Gid GAd AD 91| BC = 10 OIfF, BD = 201fF

30T AD a7 it fAfT et

o Watch Video Solution

6. Write whether it is possible to form a

triangle by segments 2.5 cm,8cm, 6.1cm

o Watch Video Solution



https://dl.doubtnut.com/l/_dye6OVIiakUh
https://dl.doubtnut.com/l/_ctdnw9Bk8qwg
https://dl.doubtnut.com/l/_xaLApyH19WWq

7. ABC @I fagtod BC Sifogtod TF AD
%1 BC = 9 (If¥, BD = 4 0¥ 20T AB a9 vy A<y

G

° Watch Video Solution

8. Write whether it is possible to form a

triangle by segments 5.3 cm,6.5cm, 13.2cm

o Watch Video Solution



https://dl.doubtnut.com/l/_xaLApyH19WWq
https://dl.doubtnut.com/l/_4Gt79Km2M8qY
https://dl.doubtnut.com/l/_tK414jGGzMSH
https://dl.doubtnut.com/l/_OWZ7bJPFEDqb

9. ABI6 ¥ JaIDIA (BIRST Tl (/2 + 1) T

a3e Sfa I /7 OIfF 20T (Brefbd 9t 2

A. 53.108 90T
B. 54.108 IO
C. 55.108 IACIH

D. 56.108 IACI(T

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OWZ7bJPFEDqb
https://dl.doubtnut.com/l/_pHViwTzv1MFL

10. Write whether it is possible to form a

triangle by segments 6 cm,8cm, 15cm

o Watch Video Solution

11. 936 I[IE AR Tohol 14 O 932 ARG
e /3 oify 8 wIEgdsid (/2 oifg 2,

A129fBd T v Q?

o Watch Video Solution



https://dl.doubtnut.com/l/_pHViwTzv1MFL
https://dl.doubtnut.com/l/_apmvipSmKh7D

12. Write whether it is possible to form a

triangle by segments 4cm,6cm, 8cm

° Watch Video Solution

13. 9B6 WLBIAPT I 12 AfFl 82 BISH6

AT AR @ (STeTd 18T T Ol GHadnd

PO 2AJ?

° Watch Video Solution



https://dl.doubtnut.com/l/_2EDjWNJCHILh
https://dl.doubtnut.com/l/_mwPlEiHod8n3

14. Write whether it is possible to form a

triangle by segments 6 cm,8cm, 9cm

° Watch Video Solution

15. fARfeifie @Urxsfa g fags wier sEd
fBA1 Q1612 BEl 21 G, 17 o1 8 30 oify

o Watch Video Solution



https://dl.doubtnut.com/l/_nTo00rxNmeKK
https://dl.doubtnut.com/l/_MBbdSMIA2ZRM

16. Write whether it is possible to form a

triangle by segments 2 cm, 3 cm, 5 cm

° Watch Video Solution

17. 9819 I (T faglod (@IAT 12 JIed ASIDA

(=

VO 9 GATHT Tphuodl|

o Watch Video Solution



https://dl.doubtnut.com/l/_CPsSYSkX0TSF
https://dl.doubtnut.com/l/_azKKD36nRUzj

18. 9919 I @ fageod @If9s [usfa @

ol W% @ @A v vdg foxfod Jafs
fagaibd erdafPnat asEsT Jrad|

o Watch Video Solution

19. 0.9 (I =%w fA6IF?

o Watch Video Solution



https://dl.doubtnut.com/l/_UoYNerUaj2L8
https://dl.doubtnut.com/l/_kA7NTuyCryIl

20. (T S[TF IDGOW AooYTT 8f6 OTR Jogsitd

AF6 IRLHEIT 3 ABB ABHAT JIH F6?

° Watch Video Solution

21. (T T IoGOR Jromit ofb 17 Iogeivd

AP6 IRERIT 3 APB ABHIAT TiIH Fo?

o Watch Video Solution



https://dl.doubtnut.com/l/_XW0t2RoldZ80
https://dl.doubtnut.com/l/_RlVk2lsQr2eM

22, fARfaIfle Jogror er3st@itdd a8 fAdy

I JoGT BIF ST 1215 |

° Watch Video Solution

23, ARG Jogor CrBs@Idd Mg fAdy

PR JoGo Bl ST 1175 |

o Watch Video Solution



https://dl.doubtnut.com/l/_3iLTw8pKNTAw
https://dl.doubtnut.com/l/_MX8jdgsKTane

24, fAfaIfle Jogror er3staitdd a8 fAdy

SN ITGo Bl Il off |

° Watch Video Solution

25, ARG Jogor rBs@Idd Mg fAdy

IR JoGS BIF I3 101D |

o Watch Video Solution



https://dl.doubtnut.com/l/_bMAoz3UYGEOE
https://dl.doubtnut.com/l/_FauEPuN50HFD

26. (BIAT T JOGISH ABI6 ARTHIT 60° 2AeT

OIJ AN FO?

° Watch Video Solution

27. fAfafle Jogow o3t sufe fAdy

IEI: BUeS

o Watch Video Solution



https://dl.doubtnut.com/l/_myPLiuRb2cT6
https://dl.doubtnut.com/l/_QqDna3E0XThL

28. fARfIRIG Jogiod TBSHNIT SIEfe fAdy

I PIes

o Watch Video Solution

29, fARfIIG JogoR TIBs@Idd Mg fAdy

P IGGG

o Watch Video Solution



https://dl.doubtnut.com/l/_WeqsTCDOBqKj
https://dl.doubtnut.com/l/_ikZtcMz28zlK

30. fARfIRIG Jogod WBS@IIT Afs fAdy

I ABGS

° Watch Video Solution

31. (PIAT JOGOE WD IRSTHIT FHIF|

OGO bd DT HO?

o Watch Video Solution



https://dl.doubtnut.com/l/_jUt3WGsue1b7
https://dl.doubtnut.com/l/_LgAdSJfXYsiC

32. (BIAT T OGO 9B6 IR 9B

LEHGICFPEEFGKIEE R KN

° Watch Video Solution

33, 930 JOGOW WBSDII3fAT STf® 540° |

OId JoXNYTT PO?

o Watch Video Solution



https://dl.doubtnut.com/l/_91O89gcbX3iS
https://dl.doubtnut.com/l/_Y32RTzQujtkM

34. 936 J0GIOH WBSHIIBIT STfE 900° |

OIJ AN FO?

° Watch Video Solution

35. [T FUG(GIF ABb ABSDIIT JIH F6?

° Watch Video Solution

36. (BIAT IT JOGOW 9BI6 GIISHIAT A

150° ©Ig YT HO?



https://dl.doubtnut.com/l/_ou2BObYLI3GF
https://dl.doubtnut.com/l/_fuLnziVvLIKt
https://dl.doubtnut.com/l/_HS9az398uh9p

o Watch Video Solution

37. (BIAT I ITGOW 916 ARSTHIT 40° e

OIJ AN FO?

o Watch Video Solution

38. (BIAT JFI IBGOH JOTd ABSHIT 72

9
S RIGAIQK] 1—03[8351" ?(d?

o Watch Video Solution



https://dl.doubtnut.com/l/_HS9az398uh9p
https://dl.doubtnut.com/l/_IG7UHGcmIFir
https://dl.doubtnut.com/l/_XsCXkwYChYb3
https://dl.doubtnut.com/l/_omwFtnJEg31U

39. (¥ S[TF J0GoW ATt 106 O’ Jogaiba

AFB IRLHIT 3 ABB ABHAT JIH F6?

° Watch Video Solution

40. ARG JogoR WIS JMafs fAdy

AL ABGS

o Watch Video Solution



https://dl.doubtnut.com/l/_omwFtnJEg31U
https://dl.doubtnut.com/l/_CXQ6Ub13Gvtx

41. 936 JoGOW ABSTHIIBITT SHfE 630° |

OIJ AN FO?

° Watch Video Solution

42. A56 JOGOd ABSDIISfeTd MFTE 720° |

OId JoXNYTT PO?

o Watch Video Solution



https://dl.doubtnut.com/l/_3Dsum0Ti0hbo
https://dl.doubtnut.com/l/_Y1TW7ogETeUE

43. (T IF IogoWd Iexedtt 10f5 O’ Jogeiba

AF6 IRLHEIT 3 ABB ABHAT JIH F6?

° Watch Video Solution

44. (T [T I0GOW J2UTT 126 OR Iogoibd

AP6 IRERIT 3 APB ABHIAT TiIH Fo?

o Watch Video Solution



https://dl.doubtnut.com/l/_XAl55uZ1UGZi
https://dl.doubtnut.com/l/_FhQ4A3S0QQkl

